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Snow Plow Path

Scenario

We have been having a lot of snow this winter. Officials in every city and county have to decide which roads to plow the snow from first. They have to consider many factors, but we are going to simplify them into one rule of thumb. Plow the roads by taking the shortest possible path. The snow plow path should reduce back-tracking as much as possible along with keeping the path as short as possible. 
Use this overview map of the main city roads to determine the best path for the snow plow to take. Every road must be plowed at least once. There is only one snow plow. The number on each line represents the distance of the street. The snow plow must start and end at an intersection. Each intersection is marked by a letter.
Display a list of the intersections in the order they should be plowed. 

Sample display: A, B, C, D, E, F, G

This would mean the shortest distance to plow all of the streets would be to start at intersection A and plow to B, then plow from B to C, then plow from C to D, then plow from D to E, then plow from E to F, then plow from F to G. This answer is not complete, but provides an example.
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